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=) UPCOMING ONLINE BATCHES

02 NOV 2022

08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

02 NOV 2022

06:30 PM to 08:30 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

November 2022

09 NOV 2022 16 NOV 2022 23 NOV 2022

07:30 PM to 09:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

03:00 PM to 05:00 PM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

23 NOV 2022

04:00 PM to 06:00 PM

BANK ONLINE LIVE CLASS

BENGALI+ENGLISH

30 NOV 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

& www.mahendras.org e  7052477777/7052577777



TARGET MATHS- 25/25

Ques 1-:  The total age of A and B 1s 12 years more than the total age of B and C. C
1s how many years younger than A?

A AR BRI SHHRIIN, B AL CH ST F AN 12 99 3ARR 2, a1 C, A U Toha a9 BieT
27

a) 12

b) 24

c) Ciselder than A
d) None of these
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TARGET MATHS- 25/25

Ques 2-:  Three men, four women and six children can complete a work 1n seven
days. A woman does double the work a man does and a child does half the work a
man does. How many women alone can complete this work 1n 7 days?

i 7y, AR AT TR B o foheT Sl h |1d fo H 9 A &) TR ek Aia
Tcdeh ToY H ST h1H Fldl & 3T Tcdeh sioall Te shl T H HTHT hTH LT @, ql
foRaT ATSATE 36 1w Rl 7 ToeT o O ot kel 0?2
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TARGET MATHS- 25/25

Ques 3-: The profit earned by selling a chair for Rs. 752 is 1.2 times the loss
incurred when the same chair was sold for Rs. 400. What 1s the cost price of the
chair?

ST fopeft Fff ol 752 T3 | Sre W SIS AT ST et AT 400 TR 7 6T TS fershi
U B ATl BT T 1.2 7T 8, 1 el ol 353 Hod T &2

a) Rs. 540
b) Rs. 592

c) Rs. 560
d) Rs. 640
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TARGET MATHS- 25/25

Ques 4-:  What 1s the digit in the unit place of
TS T T i AT 37k 82

(24)% + (33)°! - (27)°%?

\7 | ; a) 6
/\ " L b) 4

c) 8
d 3
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TARGET MATHS- 25/25

Ques 5-:  If the radius of in-circle of a triangle 1s 6.5 cm and the perimeter of a triangle
is 48 cm, then what is the area (in cm?) of the triangle?

afe; Teh AT o 3o hi 3T 6.5 Tt & AR st shr ey 48 @it 2, it oot s
L% (TH2 H) =T BI?

a) 312
b) 164
c) 142
d) 156



TARGET MATHS- 25/25

Ques 5-:  If the radius of in-circle of a triangle 1s 6.5 cm and the perimeter of a triangle
is 48 cm, then what is the area (in cm?) of the triangle?

fd Teoh VST oh ST ohi 15151 6.5 THT € SR VST ki TRATT 48 BT 7, 1 Bt
e (HHY H) T SR

a) 312
b) 164
c) 142



TARGET MATHS- 25/25

Ques 6-: At present, the ratio of the ages of Rani and Vani1s 4 ¢ 5. After 5 years,
Rani's age will be 25 years. What 1s the age of Vani at present?

SIHT H, T ST SToft <Al AT T 31U 4 2 581 5 99 oI1E, THT hT 3T 25 9 &Iit| Idam
T qTuft T ST TRt 22

a) 25 years
b) 28 years
c) 24 years
d) 22 years
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TARGET MATHS- 25/25

Ques 7-: If mean and mode of a data are 11 and 8 respectively, then median ?
Te Teh 3Tiohg o ATEA ST Tgeeh SHAST: 11 TAT 8 &, AT HITeehT 2

10
11

12



TARGET MATHS- 25/25

Ques 7-: If mean and mode of a data are 11 and 8 respectively, then median ?
Te Teh 3Tiohg o ATEA ST Tgeeh SHAST: 11 TAT 8 &, AT HITeehT 2

b) 11

d 12



TARGET MATHS- 25/25

Ques 8-:  Ifx +y =10 and xy = 4, then what is the value of x* + y*
e x +y = 10 M xy =4 7, @l x* + y* &1 I FT 2?2

a) 8464
b) 8432
c) 7478

d) 6218
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TARGET MATHS- 25/25

Ques 9-: A ABC is an equilateral triangle whose side is 10 cm. Then find the value
(in cm) of the in-radius of triangleA ABC ?

Teh GHE BIMSTA ABC & TST&hl 9T 10 9T ® | T A ABC 3hT 37 oS o6t /1 (BT 3 )
ST ShTTST 2

a) 5/\/3
b) 10V3
o) 1013
d  5\2
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TARGET MATHS- 25/25

Ques 10-: Find the area of triangle of sides 6¢cm,8cm,10cm

6 GHY, 8 THl, 10 THT SITHT aTct ST 3T &% JTd hIfSIT

a) 12cm’
b) 24 cm’
¢c) 36cm’

d) 48cm’
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Ques 10-: Find the area of triangle of sides 6¢cm,8cm,10cm

6 GHY, 8 THl, 10 THT SITHT aTct ST 3T &% JTd hIfSIT

a) 12 cm?
b)
¢c) 36cm’

d) 48cm’



TARGET MATHS- 25/25

Ques 11-: If LCM of two numbers 1s 189 and the numbers are in the ratio 9 : 7, then
find the sum of the numbers.

fd a1 AT 1 TTET 189 & IR HEATE, 9 : 7 o UG H &, T ST T INT J hifsTg)

a) 48
b) 12
c) 16
d) 24
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TARGET MATHS- 25/25

Ques 12-: A sum of Rs. P becomes Rs. 3P in 5 years when invested at compound
interest. How much will 1t be after 15 years?

afe P &€ it TN Al Tshafeg st ox st fomam ST & aa 98 5 It § 3P 9 2 ST 2
15 991 o o1 a8 fohaHT & SITarft?

a) 27P
b) 9P

c) 12P
d) 8IP
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Ques 12-: A sum of Rs. P becomes Rs. 3P in 5 years when invested at compound
interest. How much will 1t be after 15 years?

afe P &€ it TN Al Tshafeg st ox st fomam ST & aa 98 5 It § 3P 9 2 ST 2
15 991 o o1 a8 fohaHT & SITarft?

b) 9P
c) 12P
d) 8IP



TARGET MATHS- 25/25

Ques 13-: Anil and Mukesh are partners in business. They invest in ratio 7 : 9. At end

of 6 months, Anil withdraws his capital. If they receive profit in ratio of 4 : 9, how long
Mukesh’s investment was used.

ST TR oheT SATIR § TSR 81 9 7 : 9 o TG | a9 ot 81 6 71 o 3fd 1, 31fe
STt Gt FeRTet SaT 21 IS 37 4 : 9 o AT § T STH BT 8, A fohd €H To TohsT o
T3t ST ST BT 22

a) 10
b) 10.5
c) 11
d 11.5
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Ques 13-: Anil and Mukesh are partners in business. They invest in ratio 7 : 9. At end

of 6 months, Anil withdraws his capital. If they receive profit in ratio of 4 : 9, how long
Mukesh’s investment was used.

ST TR oheT SATIR § TSR 81 9 7 : 9 o TG | a9 ot 81 6 71 o 3fd 1, 31fe
STt Gt FeRTet SaT 21 IS 37 4 : 9 o AT § T STH BT 8, A fohd €H To TohsT o
T3t ST ST BT 22

a) 10

c) 11
d) 11.5



TARGET MATHS- 25/25

Ques 14-: If the sum of the measures of all the interior angles of polygon 1s 1080°, find
the number of sides of the polygon ?

TS Ueh T ok AT STANG IV ok T KT ART 1080° &, TN TG T AT Rl
T AT T

b) 12

d) 14
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TARGET MATHS- 25/25

"® Study the given bar graph and answer the following questions

accordingly. The bar graph shows the number of students from all three

departments.
fgu 91T S5 3MTeIW I HEITA HITST HR 30h IHFAR AFATATET U&7 & 3

AU | IR % AT TIHTOI & STH1 1 &A1 Pl ST B

Number of students in four colleges

100
90
80
70 -
60 -
50 -
40 -
30 -
20 -
10 -

O _

M Science
B Commerce
M Arts

College A College B College C College D



TARGET MATHS- 25/25

) Q;16 :-Find the total number of students from the commerce department from all four

colleges.

T IR piosl T IO [THET & SE A bl G&IT A1
BT | ¥

(A)210  (B)410 (C)320 (D)310

Number of students in four colleges

95 95
100 90

60 - W Science

B Commerce
M Arts

40 -

pA

College A College B College C  College D



TARGET MATHS- 25/25

Q.17 :-The total number of students from college C is approximate what percentage

more or less than that of college D?

Pletsl CH OTE] Pl Dol FEAT Pt DH AIMHI fhda ufaerd
AR AT hH &7

(A)10%  (B)8% (C)9% (D)11%

Number of students in four colleges

80

60 M Science

B Commerce
M Arts

40

20

0

College A College B College C  College D



TARGET MATHS- 25/25

Q.18 :-Find the difference between the total number of students from the commerce
department from college B and college C and the total number of students from the
sc1ence department from college A and college D.

plelsl B3R Pieldl @ OIS fIHTTT & SHET T Hel
EIT 3R Pl AR dlelsl by a1 ﬁr&w & BMET DI
Pl TEIT & dIT Pl 3 JATd DU

(A5  (B)55 (C)65 (D)75

Number of students in four colleges

100
80
60
40
20

M Science
B Commerce

B Arts

College A College B College C College D



TARGET MATHS- 25/25

Q.19 :-Find the average of all students from the science department of all four
colleges.

Haﬂawmﬁasﬁamﬁrmaxmﬂarﬁasmﬂud T PITAT|

(A)70 (B)60 (O)50 (D)80
Number of students in four colleges
100 95 95
80 -
60 - M Science
20 - B Commerce
M Arts

20 -

o _

College A College B College C  College D



TARGET MATHS- 25/25

Q.20 :-Find the ratio between the students from science and Arts from college A
and the students from commerce and Arts from co

hictol AT AT 3R Foll & oAl gﬁ( FiaeT c¥ Ao
3R el & BEl & 1T DI Ul AT HIiIv|

(A)31:23 (B)23:31 (C)13:21 (D)15:25
Number of students in four colleges
100 95 90 95

80

60 - M Science

B Commerce
M Arts

40 -
20 -

College A College B College C  College D



TARGET MATHS- 25/25

Read the table chart given below carefully and answer the

following questions.

AT feu It arferdr ¢ @ eareaqas ud 3R AFafaf@a

q,%n- a; ml;-ell' Names Run scored in ODI Run scored in Test Match
Rohit sharma 880 1000
Suresh Raina 1040 1280
Yuvraj Singh 1920 2200
M.S.Dhoni 2200 2400
Gautam Gambbhir 1800 2000
Virat Kohli 2040 2360




TARGET MATHS- 25/25

Q.21 :- The difference of scores made by Yuvraj Singh in ODI and Test matches 1s what
percentage more or less than the difference of scores made by MS Dhoni in ODI and Test
matches 1s

Thigadrd 3R ¥ Hdl # ERAIE {e 4T g T TR
T 3TAY Ui AR ¥ Al & 3 Qﬂ?ﬁ%:{l IATC

T TPR & A T fehde ElﬁQIT-er@EFZIqu

(A)10%less (B)40%more (C)28.5% more (D)28.5% less

Player Names Run scored in ODI Run scored in Test
Match
Rohit sharma 880 1000
Suresh Raina 1040 1280
Yuvraj Singh 1920 2200
M.S.Dhoni 2200 2400
Gautam Gambhir 1800 2000
Virat Kohli 2040 2360




TARGET MATHS- 25/25

Q.22:- Total scores made by all given players in ODI matches is what percentage of total
scores I made by them in test matches?
UhicadT HAT A FT e a0 f@enfsal gRy 9418 9w e
%{ 5«—%33 GRT C¥C HTl H IATT 9T PHoT TP Bl fehelel
AA 7

(A)84.5%  (B)95.5% (C)87.9% (D)89.7%
Player Names Run scored in ODI Run scored in Test
Match
Rohit sharma 880 1000
Suresh Raina 1040 1280
Yuvraj Singh 1920 2200
M.S.Dhoni 2200 2400
Gautam Gambhir 1800 2000
Virat Kohli 2040 PRI




TARGET MATHS- 25/25

Q.23 :- If Yuvraj Singh and MS Dhoni both played 25 ODI matches in this year, then
average score of which player is better?

gig Jarel g AR Tavyg ol aldl o g av 25
giﬁﬁfﬂ'\’:ﬁ'ir T Wol &, dl fpg BT & 39d TR 98

(A)Yuvraj singh (B) M.S. Dhoni (C) Both have equal level (D)CND

Player Names Run scored in ODI Run scored in Test
Match
Rohit sharma 880 1000
Suresh Raina (20 1280
Yuvraj Singh 1920 2200
M.S.Dhoni 2200 2400
Gautam Gambhir 1800 2000
Virat Kohli 2040 2360
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TARGET MATHS- 25/25

Q.24:- Total score made by Rohit Sharma, Yuvraj Singh and Gautam Gambhir in test matches is
what percentage more/less by score made by Suresh Raina, MS Dhoni and Virat Kohli in ODI

Q’ﬁ%?ram‘r

szﬁﬁmhtr

W@rﬁh—dﬁr

(A)1.51% more (B)1.51%less (C)1.53% more

qudg'g: IR A THR gRT d410 T
A THUYH ‘L‘IIZ—]I
31

A

/R ©?

Del

3R fate g gr’T

(D)1.53%les

Player Names

Run scored in ODI

Run scored in Test
Match

Rohit sharma

880

1000

Suresh Raina

1040

1280

Yuvraj Singh

1920

2200

M.S.Dhoni

2200

2400

Gautam Gambhir

1800

2000

Virat Kohli

2040

2360
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